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QUESTION 1

A NearStore license increases the amount of concurrent replication streams.
A. True

B. False

Correct Answer: A

QUESTION 2

What are three relevant perfstat counters to check for unaligned 1/O that do not fall on the WAFL boundary? (Choose
three.)

A. wp.partial_write

B. vvol_read.io_valid

C. read/write_align_histo.XX

D. read/write_partial_blocks. XX
E. xinode content misses

Correct Answer: ACD

QUESTION 3

Click the Exhibit button.

Latest NSO-504 Dumps | NS0-504 PDF Dumps | NS0-504 VCE Dumps 2/4


https://www.passapply.com/ns0-504.html
https://www.passapply.com/ns0-504.html
https://www.passapply.com/ns0-504.html

VCE & PDF https://www.passapply.com/ns0-504.html
2024 Latest passapply NS0-504 PDF and VCE dumps Download

PassApply.com

Latest NS0-504 Dumps | NS0-504 PDF Dumps | NS0-504 VCE Dumps

3/4


https://www.passapply.com/ns0-504.html
https://www.passapply.com/ns0-504.html
https://www.passapply.com/ns0-504.html

VCE & PDF https://lwww.passapply.com/ns0-504.html|
2024 Latest passapply NS0-504 PDF and VCE dumps Download
PassApply.com

In the cabinet diagram shown, what additional information should be included to make it more complete?
A. switch connectivity

B. storage port connectivity

C. storage shelf connectivity

D. storage controller rack placement

Correct Answer: C

QUESTION 4

A customer wants to move from a file based storage solution (NAS) to a block based solution iISCSI (SAN). Which
components do they need in order to implement a NetApp SAN based solution for ISCSI? (Choose three.)

A. FCP software license on NetApp storage controllers
B. Ethernet Switches

C. FC Switches

D. ISCSI software license on NetApp storage controllers
E. FCoE HBA\'s

F. FC HBA\'s

G. NIC\\'s on both Host and NetApp storage controllers

Correct Answer: BDG

QUESTION 5

With Data ONTAP 8.1, which statement is true about deduplication and volume sizes?
A. Deduplication is limited to 16TB.

B. Deduplication is limited to 32TB.

C. Deduplication is supported up to half the maximum volume size for the platform.

D. Deduplication is supported up to the maximum volume size for the platform.

Correct Answer: D
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